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|a] = 1 vertical stretch
la| < 1 vertical shrink
a < 0Oreflects over x-axis
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|b| > 1 horizontal shiink
|b| < 1 horizontal stretch
b < 0 reflects over y-axis

tk translation up

k translation down
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Describe each graph as compared to the parent graph.

y =@ib@=nh) + k - e )

h) translation right
(x + h) translation left
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Describe the transformations of your function and sketch the graph on your whiteboard.

reflect y-axis
< —Vx+1 left |
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V—(x+1) 7 lefe e
As a group, compare the transformations and graphs of each function.
Write a statement summarizing what you discovered during your discussion.

V—x—1 .

A reflection in
the x-axis and a
reflection in the
y-axis produces
the same graph.
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MGraphing with transformations

Step 1: Plot the center point (h, k).

Step 2: Use the signs of a and b to
decide which quadrants the curve is
heading toward, then use £a /1 to
find the guide points in those
directions.
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Step 3: Substitute zero for x to find
the y-intercept. Round to one
decimal place when needed.

Step 4: Find more guide points. Pick
X’s that make perfect cubes to make
mental math easy. Use a calculator
to approximate cube roots if
needed.

Al y=—-6¥x—2+10
Center point (h, k): (2'( IO)
Heading toward: &Q a"d ‘{

Guide points using +a/1:

(1, (o) and (3.4
ylntercept (0, '7é)

+/ A-1-5IC 62 )+18
Extra guide poig(s')"\' 17. 5595263

(10, =L

\"410- +0=

: |-6F :5)9+=315555=3@ { 1,-0. 33

|
ot

.D-c;mai:n:.’lk Range’\k
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Center point (h, k):(_%/- |3

Headingtoward:&\ md 3

Guide points using +a/1:

(-, 3}@4(2,

y-intercept: 0 % 5[:34 B-3)-1
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Heading toward: &2 and Y4

Guide points using +a/1:

(2,3 and (4-15)
?'\L\;’j y-intercept: (Dl (0‘78)

\:y-b\ ~¥Extra guide point(s):
:_\qéﬁ, (-5, '95 and < W\ .'7\"\\
Domain: l7\ Range: ’/.K
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m Write the equation from the graph

The center point is (4,k) and +a is the slope from the endpoint to the guide

3
[y =aVx —h -+ k] points exactly one point to the right and left of the center point. Since a
reflection over the x-axis is the same graph as a reflection over the y-axis,
just make a negative if the graph is decreasing from left to right.
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€ 11] o] [-X: M Write the equation from characteristics

Write the equation for a radical [ 3/ J
function that is centered at (-3,-12) y=aVx—h+k

and passes through (24,-13).
x

Use these = J —-/3:&_\3/37[‘("39"'(-/’0

given values | . 2 )
in the k=12 3= a\FJR7 -1
equationto | ¥=21

solve fora. | y="/3
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